Multiplication et Division par 10* (H)

66 x 10*

18 = 101

95 = 10?

45 x 10*

43 + 10*

60 x 10*

91 x 10?

60 =+ 10*

38 =101

70 = 101

Trouvez chaque produit ou quotient.

30 x 10*

= 92 x 10 =

= 34+ 10*

= 94 + 10?

= 30 x 10*

12 x 101

49 - 10 =

= 94 x 10 =

28 +10' =

42 +10' =
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Multiplication et Division par 10 (H) Solutions

Trouvez chaque produit ou quotient.

66 X 10* = 660 30 x 10* =300
18+10'=1,8 92 x 10* =920
95 +10'=9,5 34 +10'=3,4
45 x 10' =450 94 +10'=9,4
43 +10'=4,3 30 x 10* =300
60 x 10* = 600 12 x 10 =120
91 x 10* =910 49 +10' =49
60 +~10'=6 94 x 10' =940
38 +10'=3,8 28 +10'=28
70 ~ 101 =7 42 +10'=4,2
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